Name
  Date
  Class


Diagnostic Test

Grade 6
Select the best answer.


1.
7(10 + 7) = 7(10) + 7(7) is an example of which property? 


A
Commutative
C
Associative

B
Distributive
D
Reflexive

2.
Find 73.


F
28
H
2401


G
343
J
16,384


3.
What is the value of
9  6(6  4) ( 5?


A
7.8
C
34


B
21
D
30


4.
Which algebraic expression means “three times the sum of a number 
and 8”?


F
3(x  8)
H
3  (x  8)


G
3x  8
J
(8  3) x

5.
Bon Voyage Cruise lines booked 3,776 passengers for a trip to 
the Bahamas. One fourth of the passengers were children. How many children took the cruise?

A
944
C
1,468


B
1,044
D
1,821


6.
Stella works three afternoons per week at a local flower shop. She earns $35.50 per day. How many weeks will Stella have to work in order to earn $532.50?


F
3 weeks
H
9 weeks


G
5 weeks
J
10 weeks



7.
Which of the following has the greatest value?


A
–16
C
–17

B
–22
D
0


8.
What is the solution to n ( 5 = 1.3?

F
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H
6.3

G
3.7
J
6.5


9.
Divide 30.08 ( 3.2.


A
3.2
C
8.1


B
7.4
D
9.4


10.
If one gallon of water weighs 8.35 lb, about how much would a 20-gal container of water weigh?


F
100 lb
H
135 lb


G
167 lb
J
200 lb


11.
What is the least common multiple of 6 and 8?

A
2
C
24

B
14
D
48

12.
What is the GCF of 45 and 72?


F
5
H
15


G
9
J
270
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13.
At a certain college, of the 200 students entering the pre-veterinary program only 22 completed the program. What fraction of the students completed the program?


A
2
C
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B
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14.
Divide: 52
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1
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15.
What is the LCM of 9, 12, and 15?


A
540
C
1620


B
60
D
180


16.
What is 5
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F
5
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17.
What is the median of the following group of numbers?



111  110  120  118  115  113


A
114.83
C
115


B
114
D
118



18.
The members of a tour group are 23, 23, 28, 25, 47, 27, and 30 years old. To the nearest tenth, find the mean of this data set with and without the outlier.


F
29; 26
H
27; 25.5


G
23; 23
J
29; 28.8


19.
The data set and dot plot display the number of kilometers Nadia ran each day for 14 days. What is a correct description of the distribution?
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A
The data is skewed; the measures of center are varied.


B
The data is skewed; the measures of center are equal.


C
The data is normal; the measures of center are varied.


D
The data is normal; the measures of center are equal.
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20.
Which gives the missing value in 
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F
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H
8

G
5
J
15
21.
Which set of numbers is in order 
from greatest to least?


A
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B
21%; 
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C
70%, 0.68, 
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D
0.72; 86%; 
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22.
What is 35% of 320?


F
7.7
H
110


G
77
J
112


23.
How many feet are there in 9 miles?

A
1,760 ft
C
15,840 ft

B
5,280 ft
D
47,520 ft

24.
What is the surface area of a cylinder having a base diameter of 6 inches and a height of 9 inches? Use 3.14 for (.

F
56.52 in2
H
226.08 in2

G
126 in2
J
241.56 in2

25.
Find the area of the figure.
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A
45 cm2
C
126 cm2

B
64.5 cm2
D
144 cm2

26.
Which set of integers is in order from greatest to least?


F
6, 7, (2, 0


G
9, 8, (2, (4


H
(7, (5, (2, 3


J
2, (4, 8, (9
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27.
Which of the following inequalities is true?

A
(2 > (1
C
3 < (3


B
(12 > 2
D
(3 < 3

28.
A figure has the following vertices: A(0, 4), B(3, 8), and C(4, 0). What 
are the vertices of the figure after a reflection across the x-axis?


F
(4, 0); (8, 3); (0, 4)


G
(0, (4); (3, (8); (4, 0)


H
(0, (4); ((3, (8); ((4, 0)


J
(0, 4); ((3, 8); ((4, 0)



29.
Which number would complete the function table?

	x
	3
	5
	7
	9

	y
	6
	10
	14
	??



A
10
C
14


B
12
D
18

30.
What inequality is shown on the number line?
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F
x ( 3 or x  (3


G
x  3 or x ( (3


H
(3  x ( 3


J
(3 ( x  3
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Answers


1.
B

2.
G


3.
B


4.
F


5.
A


6.
G


7.
D


8.
J

9.
D


10.
G


11.
B

12.
G


13.
C


14.
H

15.
D


16.
G


17.
B

18.
F


19.
D
20.
G
21.
C

22.
J

23.
D

24.
H


25.
A

26.
G

27.
D

28.
G


29.
D

30.
F
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